2N SAERSH
M /s N
el REXZAIG2L2Y (CH M 21)
2A - HH . H(SH) - MRAIY - BES Ol ArH J &3 o Hws2
SAERSH 13,631,962 14,053,103 2421141
= 196,600 171,400 25,200
& 804,209 889,334 285,125
ES 50,000 50,000 0
o 12,581,153 12,942,369 A361,216
=ms XA 1,434,756 1,449,107 214,351
= 22,800 38,000 215,200
& 167,642 204,065 A36,423
ES 50,000 50,000 0
= 1,194,314 1,157,042 37,272
FEXIAg2e2Y 410,927 442,280 A31,353
= 22,800 38,000 215,200
[ 8,760 11,200 A2,440
B 50,000 50,000 0
= 329,367 343,080 A13,713
L 5 SME2 RSAA L 222Y 155, 107 158,700 A3,593
201 L2 3| 5,707 9,300 23,593
01 At22t2ld| 3,840 5,340 21,500
OsSAZHIHE 2RXUT o 0 1,500 A1,500
02 S=2Z| 1,867 3,960 22,093
OsSAZ2TE 302 667 2,760 A2,093
ISSASEINE M2
220,000&+3& 660 2,400 A1,740
I=SSASTIE MoteE R3
2,3002+3& 7 360 N353
SSHEH| 125,100 155,500 230,400
= 22,800 38,000 215,200
& 4,560 7,600 A3,040
= 97,740 109,900 212,160
307 SI2t01 & 125,100 155,500 A30,400
= 22,800 38,000 A15,200
T 4,560 7,600 A3,040
= 97,740 109,900 212,160
02 QIZHBAANSBEE 125,100 155,500 A30,400
OSSHEHIXIAAIZ 91,200,000 x50% 45,600 76,000 30,400
= 22,800 38,000 A15,200
T 4,560 7,600 A3,040
o 18,240 30,400 A12,160
sSAE SEHEZASHE () 6,720 10,080 A3,360
& 2,400 3,600 21,200
= 4,320 6,480 A2,160
307 SI2t01 & 6,720 10,080 23,360
& 2,400 3,600 21,200
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A saERSH
dM: 78 NA
&2l REXNIAAISG2e|2E (CHol: X 2)
SA - BB SR(E) - HRAY - BES Ofl kot J| & o GImE=ST;
i 4,320 6,480 A2,160
02 CIZHEAAIRIE X 6,720 10,080 23,360
Ostt= SEiE 28 |4
9,600,000 *70% 6,720 10,080 A3,360
< 2,400 3,600 21,200
i 4,320 6,480 A2,160
g st2 =53 EoIRSE KA 6,000 0 6,000
== 1,800 0 1,800
o 4,200 0 4,200
307 212t01& 6,000 0 6,000
== 1,800 0 1,800
i 4,200 0 4,200
02 QIRHBAIAHE R 6,000 0 6,000
OZdd si2 =53 EotR"sS K
20,000, 0002 *30% 6,000 0 6,000
< 1,800 0 1,800
i 4,200 0 4,200
S&E KRSAIE &X 349,412 419,307 69,895
== 69,882 125,784 AB5,902
i 279,530 293,523 13,993
218 SLE RSAIE EXAHY 349,412 419,307 69,895
== 69,882 125,784 AB5,902
i 279,530 293,523 A13,993
402 CIZHRHE0|N 349,412 419,307 69,895
< 69,882 125,784 A55,902
i 279,530 293,523 A13,993
02 CIZFXHEAIH 2 (0| X THEA) 349,412 419,307 69,895
OL7E sitE FSAE XA
349,412,000 349,412 419,307 69,895
== 69,882 125,784 AB5,902
i 279,530 293,523 13,993
=222 st N 674,417 587,520 86,897
= 89,000 67,081 21,919
= 585,417 520,439 64,978
K-site 8252 SEXZ ALY 290,500 23,333 267,167
< 83,000 7,000 76,000
i 207,500 16,333 191,167
307 212t01™ 290,500 0 290,500
< 83,000 0 83,000
i 207,500 0 207,500
02 CIZHEAAIRIE X 290,500 0 290,500
OZZ HE-l K& 290,500,000 290,500 0 290,500
== 83,000 0 83,000
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PN sASRSH
dM: 78 NA
&2 =222 sitE AR (CHol: X 2)
SA - FHH . O(32) - HRAY - BES Ofl Aot )3 o GImE=ST;
i 207,500 0 207,500
402 QIZERHE0| A 0 23,333 N23,333
< 0 7,000 27,000
i 0 16,333 16,333
02 CIZFXHEAIH 2 (0| X THE) 0 23,333 N23,333
OZEM M=l K& o 0 23,333 N23,333
== 0 7,000 A7,000
i 0 16,333 /16,333
AesaE 222 2/ HOXIJFAY 0 10,270 A10,270
< 0 3,081 23,081
i 0 7,189 AT7,189
402 QIZERHE0|A 0 10,270 /10,270
< 0 3,081 23,081
i 0 7,189 AT7,189
02 QIZENEAMLE R (01X M) 0 10,270 /10,270
Otldsitg 222 Zd8E Ho X2
0& 0 10,270 /10,270
== 0 3,081 A3,081
i 0 7,189 27,189
MESAE MAEHT] S22 SEXF A 20,000 190,000 170,000
== 6,000 57,000 51,000
i 14,000 133,000 119,000
402 CIZHRHE0|N 20,000 190,000 170,000
< 6,000 57,000 /51,000
i 14,000 133,000 119,000
02 CIZFXHEAIH B (0| X TH A 20,000 190,000 A170,000
Ol =42 MAEX 222 54 XA
20,000,0002! 20,000 190,000 A170,000
== 6,000 57,000 51,000
i 14,000 133,000 A119,000
sHtE 23 25t 637,450 715,197 ANTT,747
= 93,000 93,000 0
== 57,000 78,524 A21,524
i 487,450 543,673 256,223
A FYHELS 637,450 715,197 ANTT,747
= 93,000 93,000 0
== 57,000 78,524 A21,524
i 487,450 543,673 256,223
ATAIE KIZAAS 274,000 351,747 ANTT,747
== 57,000 78,524 A21,524
i 217,000 273,223 256,223
402 CIZHRHE0|N 274,000 351,747 ANTT,747
< 57,000 78,524 N21,524
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A saERSH
M it WY Lt
o BANY ZAS2AG) (Crel: & 2l)
2A - B E9(SH) - HRAIY - BES 0] b0t o & e HIn=2
i 217,000 273,223 A56,223
02 CIZFXHEAIH 2 (0| X THE) 274,000 351,747 INTT, 747
OLEAE XIFAAS 274,000,000 274,000 351,747 NTT, 747
(o= 57,000 78,524 N21,524
i 217,000 273,223 A56,223
SSEgE2te] 1,695,738 1,660,000 35,738
S8 SY 1,695,738 1,660,000 35,738
SSEHE E203HE &3t 1,695,738 1,660,000 35,738
201 LBt AY| 8,000 260,000 A252,000
01 At=2teld| 8,000 260,000 A252,000
OtIlE SSEUHE 221 7,000 259,000 252,000
0JHO! & HOIEHA|(42 Z2E})
ol 0 219,600 219,600
IsL2 2 (25 T8 o 0 32,400 A32,400
308 XXIHHMSOIH 287,738 0 287,738
13 B2 SOCHEHE A E 2 ALY 287,738 0 287,738
Ot B8 22&s 287,738 0 287,738
QOHOIERAl 21221
332, 750 %470l * 122 187,671 0 187,671
ORHOIEAl 21221
302,500 *14CHx 122 50,820 0 50,820
042 28X 22D
332, 7502*9CH+ 122 35,987 0 35,987
04l JHQI S RHOIBRAl 221
332, 7502 %50} *8 13,310 0 13,310
el EM KA 1,819,111 2,596,484 ANTT7,373
= 17,000 17,000 0
== 371,667 365,320 6,347
o 1,430,444 2,214,164 AT783,720
el XA 1,391,939 2,175,312 AT783,373
= 17,000 17,000 0
(o= 366,467 360,120 6,347
i 1,008,472 1,798,192 789,720
2l01& W2tal XIJ AMY 14,040 11,682 2,358
== 4,212 3,505 707
o 9,828 8,177 1,651
307 212t01& 14,040 11,682 2,358
== 4,212 3,505 707
o 9,828 8,177 1,651
02 QIRHBAIAHE R 14,040 11,682 2,358
OOEl0l& nr2tal X
1,300 %24001%453| 14,040 11,682 2,358
(o= 4,212 3,505 707
i 9,828 8,177 1,651
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2A:
T ZH -
o /e

cH):

SAZSED
o{2| HH Xgl

el K&

SN - BE - B2(3) - NRAY - BES Ofl et ol o iimE==l
GAP 1B =2 X 15,710 3,470 12,240
== 1,040 1,040 0
= 14,670 2,430 12,240
301 EtEEZ 15,710 3,470 12,240
(o= 1,040 1,040 0
i 14,670 2,430 12,240
14 JIEtE A2 15,710 3,470 12,240
OGAP 215 =2 XI& 15,710,000 15,710 3,470 12,240
(o= 1,040 1,040 0
i 14,670 2,430 12,240
S| SERAME 23 144,617 975,488 830,871
101 Q14| 89,214 125,245 36,031
04 JIRIH2ENSES 0 36,031 A36,031
OJ 22Xt 0 36,031 A36,031
0o1=s o 0 26,031 26,031
IS5 o 0 5,680 25,680
=213 o 0 1,427 A1,427
0AHAEE = o 0 1,125 A1,125
0EIIQYBEE o 0 145 A145
0NEBES o 0 555 AB55
MBS Z o 0 318 318
0ul=Hl o 0 750 AT750
201 LAY 18,900 82,740 63,840
01 At22elt| 2,800 47,940 45,140
OYMHeISEXNHH E2D4 ME
o 0 20,000 A20,000
SOMAl Al S22 o 0 1,000 A1,000
OFI |12 o 0 200 A200
oYy A=22|H| o 0 1,200 21,200
OAMRES & dMAEE 72 o 0 1,000 21,000
Og%ielRds 28+ o 0 1,700 A1,700
OsMel2g (=R Ids 2824
0 0 6,000 26,000
o2g9=28 72 o 0 10,000 10,000
OFSPNISE o 0 240 A240
OgdElxI| o 0 500 A500
O LHHXE o 0 3,300 A3,300
02 2=23| 16,100 32,800 216,700
O&IIRE ¥ HA 16,100 26,600 210,500
0&IIR3 2,000,000&+5& 10,000 20,000 210,000
OMAtSHHA A BEZ o 0 500 A500
OAIEZHIR X o 0 5,000 A5,000
OxteEsil 2 *FUH o= 0 1,200 A1,200
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SN SABRSD
M o B K|

el Aol X (cro): =2l
2A - EH - OR(3) - NIRAY - BAS O kol )| & o HIDE2
03 A2 0 2,000 A2,000
OYNHe|ISEXHE =34 A
0& 0 2,000 A2,000
206 M=H| 0 731,000 A731,000
01 M=Hl 0 731,000 A731,000
S&5(&8w)Z4 AP (AlE2gstn)
o 0 731,000 A731,000
2334 sttErg A2 SEAY 32,900 0 32,900
= 5,640 0 5,640
i 27,260 0 27,260
402 CIZHRHE0|N 32,900 0 32,900
= 5,640 0 5,640
i 27,260 0 27,260
02 CIZEXI=AIH B (0| M T 32,900 0 32,900
OZ2324 sttEsag 2D SHAY
32,900,000 32,900 0 32,900
< 5,640 0 5,640
i 27,260 0 27,260
sS4tE A EH E4dst 427,172 421,172 6,000
= 5,200 5,200 0
i 421,972 415,972 6,000
sE4=E 22 AR 92,000 86,000 6,000
301 et Z 9,000 3,000 6,000
11 EALHIXIRAZ 9,000 3,000 6,000
O=SA4t2 TEEA L 2es| &4
30,0002 %4015 %153 9,000 3,000 6,000
SAS0HBIE AL 1,701,744 1,694,167 7,577
= 1,000 1,000 0
i 1,700,744 1,693, 167 7,577
OHRHIE AL 1,701,744 1,694,167 7,577
= 1,000 1,000 0
i 1,700,744 1,693, 167 7,577
ORHE 2 208,654 201,077 7,577
101 eI44| 153,096 145,896 7,200
02 JIER E= 85,945 78,745 7,200
OAIRHAE I DI 85,945 78,745 7,200
0J1=2=(YIIM9Z) 4,978,800 128 59,746 52,546 7,200
304 H=FE=S 4,828 4,451 377
02 2LIALEEHFT 3,358 3,096 262
OAIZHHEIT LDIH =R1HAEE J|I2RY
= 83,945,00021%3. 545% 2,976 2,744 232
OAIRHAEIT ADIH EIIQYLEE J|12RH
2 2,976,000&*12.81% 382 352 30
04 SR (RINHL) 22N BEHERLZ S 1,470 1,355 115
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RN sASFSH
M sMS0PIE A
=l OPIE AL (cro): =2l
2A - FH - GR(3) - MRAY - BYS )l H o {[ImE=ST
OAIRHAEIT A0 DEEE J|2ARES
83,945,000&*1.75% 1,470 1,355 15
EMETHRIAS 433,645 712,763 N279,118
= 4,400 5,800 A1,400
< 9,800 114,445 A104,645
= 419,445 592,518 A173,073
ENE A 282,845 259,645 23,200
= 4,400 5,800 21,400
L= 2,800 3,750 A950
i 275,645 250,095 25,550
CHEZofszt AlE 2tel 69,500 38,000 31,500
401 Al&HIZLROHY] 31,500 0 31,500
01 AlEHI 31,500 0 31,500
OtZzofdat B 2 S22t &X
15,750, 0002 %24 31,500 0 31,500
SZY MoK otMD|= S 0 5,000 25,000
L= 0 1,500 A1,500
s 0 3,500 /3,500
201 LBt AY| 0 2,000 A2,000
L= 0 600 2600
s 0 1,400 21,400
01 AtS-2teld 0 2,000 A2,000
OLHMIIE ZAIZ o 0 2,000 A2,000
< 0 600 2600
= 0 1,400 A1,400
206 =4I 0 3,000 A3,000
< 0 900 2900
= 0 2,100 A2,100
01 M=Hl 0 3,000 A3,000
OtE WS TH=H| o 0 3,000 A3,000
L= 0 900 A900
s 0 2,100 22,100
SENE 828 25" Y 3,000 3,500 A500
< 900 1,050 A150
= 2,100 2,450 A350
301 YetEN =S 3,000 3,500 2500
< 900 1,050 A150
= 2,100 2,450 A350
08 212te1=2|4H| 3,000 3,500 2500
OsEANE S=58 dEs3 g
3,000,0002*13| 3,000 3,500 A500
L= 900 1,050 A150
s 2,100 2,450 A350
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SN sAESRSH
S SELENIANY
©?Hel: SEXAEAS CEEEN

2A - HH . H(SH) - MRAIY - BES Ol ArH J &3 o Hws2
i DIZBAE 88 MEUs 2,800 5,600 22,800
= 1,400 2,800 A1,400
& 700 0 700
= 700 2,800 22,100
201 L2 3| 500 1,000 A500
= 250 500 A250
& 125 0 125
= 125 500 A375
01 At22t2ld| 500 1,000 A500
O 012 Jt= Jlzus 2AE
250,000 *23| 500 1,000 A500
= 250 500 A250
& 125 0 125
= 125 500 A375
206 M=l 2,300 4,600 22,300
= 1,150 2,300 21,150
& 575 0 575
= 575 2,300 AN1,725
01 =4I 2,300 4,600 22,300
L2 018 I8 Jl&sns M|
1,150,000 *23| 2,300 4,600 A2,300
= 1,150 2,300 21,150
& 575 0 575
= 575 2,300 AN1,725
MED =AM 145,800 104,800 41,000
& 6,000 6,000 0
= 139,800 98,800 41,000
SE0H st |4 41,000 0 41,000
201 L2 3| 10,000 0 10,000
01 AtR22lt] 10,000 0 10,000
OsE04detstd |4
1,000,000 103 10,000 10,000
206 =4I 16,000 16,000
01 TH=H| 16,000 0 16,000
OMEXIEIHsE0MeH) ¥8U=S
700,0002% 103 7,000 0 7,000
OMEDHMSE 2073
900,000& 103! 9,000 9,000
307 QI2H0| M 15,000 15,000
04 QIZHHAIAIE B = 15,000 15,000
OMEDHAS| stotSHal X1
15,000, 000& 15,000 0 15,000
SAHRIR 5,000 348,318 A343,318
& 1,000 104,695 A103,695
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2A:
X{XH -
o /e

cH):

sHEesH
STHERRAIY
SASMHXH

SA - FHH . O(32) - HRAY - BES Ofl Aot )3 o iImE=ST
i 4,000 243,623 A239,623
SESSENY ASZGM XS (E8I) 5,000 6,000 21,000
= 1,000 2,000 1,000
i 4,000 4,000 0
307 212t01™ 5,000 6,000 21,000
= 1,000 2,000 21,000
o 4,000 4,000 0
02 CIZHEAAIRIE X 5,000 6,000 21,000

O=Z=SS&ae dTZIM KA
10,000, 0003 * 1JH 2-+50% 5,000 6,000 21,000
= 1,000 2,000 A1,000
o 4,000 4,000 0
S&E JISekey XA 0 342,318 A342,318
= 0 102,695 A102,695
i 0 239,623 A239,623
402 QIZERHE0|A 0 342,318 A342,318
= 0 102,695 A102,695
i 0 239,623 A239,623
02 CIZFXHEAIH 2 (0| X THEA) 0 342,318 A342,318
Osétg J134e 843t XA 02 0 342,318 A342,318
= 0 102,695 A102,695
i 0 239,623 A239,623
SESA 2435 5,817,559 5,191,685 625,874
= 59,400 17,600 41,800
= 197,100 125,980 71,120
i 5,561,059 5,048,105 512,954
sI|HAE XA 2,504,868 1,878,944 625,874
= 59,400 17,600 41,800
= 197,100 125,980 71,120
o 2,248,368 1,735,414 512,954
SIHLUAME A2 1,425,334 1,255,334 170,000
401 AlEHIZL 08I 170,000 0 170,000
01 Al&H| 170,000 0 170,000
SIALUAE A (FAIRA)el2gd

170,000,000 %1 A! 170,000 0 170,000
SEXE Jetx S (0lel, sI1HI Zet =) XIS 30,000 40,000 210,000
= 9,000 12,000 23,000
i 21,000 28,000 AT,000
405 KHAHE S| 30,000 40,000 210,000
= 9,000 12,000 A3,000
i 21,000 28,000 AT,000
01 AL 2EFSHI 30,000 40,000 210,000
Og&azE s2IH8 25 13,000 23,000 210,000
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AN SAE
N SESA 243t
=l SIOIHAE KIS CEREERD
SN - B G9(S) - MRAE - BYS ol o iimE==l
00t==01E )| o 0 10,000 10,000
= 0 3,000 /3,000
s 0 7,000 27,000
LEE SIIAH XA 673,034 320,660 352,374
= 141,900 96,200 45,700
= 531,134 224,460 306,674
402 2I2tRH201H 673,034 320,660 352,374
= 141,900 96,200 45,700
= 531,134 224,460 306,674
02 CIZFXHEAIH 2 (0| X THEA) 673,034 320,660 352,374
OXEd sJIAH KA 673,034 320,660 352,374
OXEE =II1H X 673,034,000 673,034 320,660 352,374
= 141,900 96,200 45,700
i 531,134 224,460 306,674
JIHSEX 22X 28,500 29,000 A500
= 11,400 11,600 2200
= 3,400 3,480 280
i 13,700 13,920 N220
402 RIHXH201 A 28,500 29,000 2500
= 11,400 11,600 2200
= 3,400 3,480 280
i 13,700 13,920 N220
02 QIZEXHEAIE 2 (01X THE) 28,500 29,000 2500
SIHSSER 23 X3
100, 0003 *285(H 28,500 29,000 A500
= 11,400 11,600 200
= 3,400 3,480 280
i 13,700 13,920 N220
SIAHEE sIIRE 282 & 80,000 50,000 30,000
= 20,000 12,500 7,500
= 60,000 37,500 22,500
301 LBEES 80,000 50,000 30,000
= 20,000 12,500 7,500
= 60,000 37,500 22,500
14 JIEtE A3 80,000 50,000 30,000
OsJIH B8g X& 80,000,0002! 80,000 50,000 30,000
= 20,000 12,500 7,500
= 60,000 37,500 22,500
= 20| UH+e XA 84,000 0 84,000
= 42,000 0 42,000
= 21,000 0 21,000
= 21,000 0 21,000
405 XA SH| 84,000 0 84,000
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2N sAERSH
M SESA 243t
2l SIIAANY K& (S| : &S
2A - HH . H(SH) - MRAIY - BES Ol ArH J &3 o Hws2
= 42,000 0 42,000
& 21,000 0 21,000
= 21,000 0 21,000
01 At 2FFSHI 84,000 0 84,000
O&DLXI LMD 12,000,000 %7CH 84,000 0 84,000
= 42,000 0 42,000
& 21,000 0 21,000
= 21,000 0 21,000
HRES(sAERS) 58,259 0 58,259
I=RSONES 58,259 0 58,259
BxILtE=3 58,259 0 58,259
802 Bret=DIEF 58,259 0 58,259
01 =2 X38HE=2 16,253 0 16,253
02023 X|Hctel = = XI3AAY &
SHERHOH( Q| Xtz 8t) 15,054,650 15,055 0 15,055
02023 = Z2SHEH| XIZAY O Kpekayon
14,8802 15 0 15
OloT2I8t C2XHAH| FAZAHHPRSA
o HEHAIH(O|KHZE) 1,056,930 1,057 0 1,057
02023 =sI|HSSEX SRXAAI &
ZHH(OIKHEE) 125,970& 126 0 126
02 Al - EHIEZZEte S 42,006 0 42,006
02023 = S| XIZALY O Kpekayon
2,970 3 0 3
020239 T s42 SSIPIEES SHAIY
ZISHRFOH (O KL &) 955,310 956 0 956
02023 +=E20t KA HEHEZH(0| Kt
&) 8,763,980 8,764 0 8,764
020238 sEEA=eratdst N2AA OIIP
2+ AH OH 711,100 4,712 0 4,712
02023 GAP CIBS+=3 KIJAIY ’é'%“ oH(0l
KtxEst) 16,040 17 0 17
020234 O{EI01& DHU2tAl TIRAAY &
oH(O| Xtz &t 545,020 546 0 546
02023 stZAlH| XA TSHEH (0| X}
& 6,152, 120 6,153 0 6,153
02023 XSt stgal X2AIY EeE
OH(O|KFZE) 329,670 330 0 330
020234 22|0t0] H2ATAIZ XA &E
ZHH(OIRFELEY) 40,7502 41 0 4
O2022 H2A=2e | NRAIY BSHEH(
OIXtE ) 48,5602 449 0 449
02022 s=0{24 EXAA AEHAIY &8
ZHH(O|RHEE) 1,663,480 1,664 0 1,664
02023 H2A4=22(d| XI2AIY e EoH(
OIXIE &) 3,616,480 3,617 0 3,617




2A:
T ZH -
o /e

cH):

S - EH - SSI(BH) - HIRAY - BAS o & o HI DS

Co022d SII0E SAAEAIY DEare (o]

TEE) 192,450 198 193
02023 HZ0F SHIXIZIARY EBHEIOH (0]

R 1,689,3102 1,690 1,690
OP022 =J1E ERAE JHLX AlA

Of ZIBHIOH(O|XIEE) 1,561,0702 1,562 1,562
ORo22ld BIEAISS MEoE WY Al A

&K (0|1 L) 81,3002 2 &
Co023e S=e! THaH0IE oFRD|s Saith

SR E=4=) 456,002 456 456
0P0231E MEINME| HEX| ESAL Ol

AHOH 10,7102 11 11
Or023E SEHEZ BANL AL &

SHXHOH(O| KIELEL) 757,990& 758 758
Or023 sSENY 528 M2s Y A

P 34,2708 325 325
0P8 2SOl AREY T2 A5 X|

SIAFY O|RHE A4 8,0502! 9 9
OR023E sAl2 JIZAIY A3 KA &

SHREOH(O| KHLEY) 2,172,750 2,173 2,173
Or023E SIIHEE SIHRE 2E2 A

Of ZBHEOH (0| KIEE) 108,870 109 109
0P023 SIS R SR Hs

oK (0| X&) 37,7602 38 e
02023 REE I XIRA DHEH(O|

T 6,360,990%! 6,361 6,361
Or023E SESEEAY MEAAY XI2A

& HEHEH(O|KtZE) 500,320 591 591
OP02E SES=EAY MTAAH XA

of F/SHAHOH(O|XIEE) 395,860 3% 3%




